
−
1.

0
−

0.
5

0.
0

0.
5

1.
0

T
m

ax

A

r = −0.334
p = 0.138

B

r = 0.270
p = 0.237

C

r = 0.372
p = 0.256

−
2.

0
−

1.
0

0.
0

1.
0

Ω

D

r = −0.190
p = 0.409

−
2.

0
−

1.
0

0.
0

1.
0 E

r = 0.581
p = 0.006

−1.0 −0.5 0.0 0.5 1.0

F

r = 0.590
p = 0.005

−
1.

0
0.

0
0.

5
1.

0
1.

5

P
op

t

G

r = 0.211
p = 0.359

H

r = −0.495
p = 0.022

I

r = −0.521
p = 0.015

−0.4 −0.2 0.0 0.2 0.4

−
0.

4
0.

0
0.

2
0.

4

Tcrit

T
op

t

J

r = 0.193
p = 0.401

−0.4 −0.2 0.0 0.2 0.4

T50

K

r = −0.432
p = 0.051

−1.0 −0.5 0.0 0.5 1.0

T95

L

r = −0.452
p = 0.039


